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QUESTION 1 (10 marks)

a) Find thfe, I'5th term of these sequences. {To 2 decimal places)

5,811, B
i) 2,2.2,242, ' [2]"
.20 : - :
. b)Evaluate ».2r+3 ' 3]
=l

¢) The second term of a G.P. is % and the sixth termi fs 27. Find the third term.
o i
QUESTION 2 (9 marks)

a) Mr. Smith gets a job with a starting salary of $330 a week. He:gets a'$5 increase in

Pay. each week for 52 weeks. _

i) Find his pay duringahie 52nd week. 2]

ii) Find his total pay for the 52 weeks. - 2]

{il During what week will his weekly income first-exceed 5?&0. . 3]
b) A tree grows so that its increase in height in one year is §0% of the previous yeats
increase. Find its maximum height if it is 2 metres tall at+the end of itgéfirst year,

. i

QUESTION 3 (9 marks)
a) S_olve, g;ving answer to two decimal places  500{(1.05)" =2000 2]

b) For the function y = xe*
i) Show % =e*(x+1) . 2

ji) Find any stationary points. ‘ . ]

iii) Find the second derivative and use it to find the nature of any stationary
point. {31
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QUEATION 4 (9 marks)

a) Simplify log,100- lo_gs 20 2]
BYIf y=e" -1
i) Find y (to 2 decimal places) when x=2 and when x=-0.5 2]
ii) Draw a sketch of tiac -graph of this function indicating the coordinates of all
intercepts. .
121
( 1
¢) Evaluate giving exact answer. [t — 1y [3]
Q

QUESTION 5 (10 Marks)

a) Brutus is going to make two contributions to his superannuation fund, The firstisa
lump sum of $25000. The other will be a monthly contribution of $350 paid at the
beginning of each month, The fund eams interest at a rate of 9% p.a. (compounded
monthly). : 1.Q07%

i) Find the value of the $25000 after 15 years. [2]

i1} Find the total value of his investment after 15 years (this includes both the

lump sum payment and the monthly payments). My

b) A layer of plastic cuts out 15% of the light and lets through 85%.

) Show that two layers of plastic let through 72.25% of light. [

ii) Form an expenential inequation and use it to find how many layers of
plastic are required to cut out at least 90% of light?

(3]




